ELEG403 COMMUNICATIONS SYSTEMS ENGINEERING

ASSIGNMENT #7 due Wednesday November 12

1. Haykin Problem 8.3. Also, answer the following additional questions for this problem.

For these added parts, let A be the event that X < 0.5, _Ei_hﬂthauvanl}ﬂ?ﬂ.ﬁ. and C

be the event 0.25 < X < 0.75. - =4
d) Find P(A), P(B), P(C), and P(A/C). 'fL:: i ;J,,_\’
e) Are A and C independent events? LT e
f)  Find E(X), the mean value of X. L

2. Haykin Problem 8.8

3. Haykin Problem 8.18
4. Haykin Problem 8.32
5. Haykin Problem 8.33
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PB)= PX>0S) = |- Blx<e.s) = 0,3033

d: 0,as5 <X s Qs

Pla)= P(6aS < x<615)
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